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CIRST TERM:INAL EXAMINATION (CIASSX ) n 5
Time : 3 hours MATHEMATICS Maximum Marks :80 ¥ T ’”j’

instructions : All the questions are compulsery. Section A contains 6 questions of 1 mark 3/- 4 ;[j
each. Section B contains 6 questions of 7 marks each. Section C contains 10 questions cf3 »

marks each and Section D containe 8 guestions of 4 marks each. Calculatorsare not X

aliowed. 1?
SECTION A - k&

if the HCF of 22 and 461s of the form 22m — 20., then find m. ?-X B’é

i
2, Find the zeroes of the pelynomial x*= 3.
3 In the given figure O is a point inside & PQR,
such that /POR = 9¢°,0OP=6cm, OR=8cm.
fQrR=26cmand [QPR = g0?, then find PQ.
4 If 5tan 8=3 ,then evaluate (5sinB-3cos €)

= P
(5sinB+3cos B)
Find the value of k for which the guadratic equation 32 + 2x + k=0 has real roots.
& A die is thrown once . Whatis the probability that it shows a multiple of 3

greater than 4.

— - - —
7.~ Evaluate: 2 cos 2 60° + 3 sin 2 45% - 3 5in * 30° + 2 cos?90°. P
8 - If sin3A= cos (| A —10%), where 3Ais an acute angle, then find the value of A. S e
9 _-Solve: 3V7 x*+ 4x - V7 -0 -

If one zero of the polynomial x*—9x+ 6k is twice the other, then find the value of k,-"\-’x-}j —
i the height of a tree is 3¥3 k metres and it's shadow is of length Sk metres, A
then find the angle of elevation of the Sun at that tin e of the day. 2

12~ Show that every positive odd integer is of the form tﬁu] or (4q+3) SN = :T
for some integer g. : ' . Ae - N oo :

—

SECTON C .
: Syl -—L--'*T.—:_'_B
13~ Prove that V3 is an irrational number and hence 5+ 3 is also an irrational number. £
14 - Find the zeroes of the duadratic polynomial 6x* — 7x — 3 and verify relation &
between it’s zeroes and coefficients. " 2
15  The sum of the squares of two odd pnsﬂiue%m.is-%ﬂ- 90, find the numbers. s
In the given figure , the line segment XY 11 AC — A : 3
of A ABC,and it divides the triangle into two parts X/ B
of equai area . Prove that ) o e
AX:AB =(v2-1): V2 | _@?}3 7 ok
A g - b 2 ri [
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=il eguilateral riangle cescribed o

n 2 side of a square &
taterg] trian

gle described on the diagonal of the same e _
: € angles of dzpression of two consecutive km stones in
e found to be 370 andﬁi'.ﬁdﬂlehﬁghtﬂﬂiehi(_ :

=

(a+b+x) a

e angles of dm of the top ane
high tower are 30° and 60° respective

i

& 23 ‘Egé'}ﬁ}ﬁovﬁng data gives production yiele
LRt | o - = ; =
V-#bf a village. Draw a ‘more than type ogiye”

also find the median using it.
Productionyield | 40-45 45— 50
t‘kgﬂ:ednj

i Number of farms 5 73
wﬂu arithmetic mean of the following f

Find the value of p.
Class 0-10 10-20
frequency 5 18
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